APHIS-79: APHIS, VS 0579-0040								
	TOTAL ANNUAL RESPONSES	AVERAGE TIME PER RESPONSE	TOTAL HOURS PER YEAR	PERSON	AVG RATE OGRAM NEL (Avg rly Wage)		OVERHEAD COSTS (.139)	TOTAL COSTS
FORM NO./RESPONDENTS								
90-day Written Bird Possession Statement - Canada	150	0.16	24.00	12	39.46	\$947.04		
Recordkeeping – Identification Marks on Imported Animals	N/A							
Agreement of Pet Bird Owner, VS 17-8	80	0.15	12.00	12	39.46	\$473.52		
Importation of Pet Birds (Personally Owned), VS 17-23	700	0.19	133.00	12	39.46	\$5,248.18		
United States Permit to Transit Poultry, Hatching Eggs, or Birds, VS 17-135A	10	0.2	2.00	12	39.46	\$78.92		
Application and Space Reservation Request for Ratites and Ratite Hatching Eggs and Site Inspection, VS 17-128	640	0.16	102.40	12	39.46	\$4,040.70		
Daily Register for Owner or Manager for Ratites and Hatching Eggs			0.00			\$0.00		
Recordkeeping - Daily Register for Owner or Manager for Ratites and Hatching Eggs	1	0.25	0.5	7	22.45	11.23		
Declaration of Importation of Animals, for Birds or Animals for Retention and Other Documents or Certificates for Animals, Animal Semen, and Embryos, Birds, Poultry, and Eggs for Hatching, VS 17-29	65,081	0.066	4,295.35	12	39.46	\$169,494.35		
Owner or Manager and Country of Export Quarterly Submission of Registers	80	0.5	40.00	9	27.21	\$1,088.40		
Recordkeeping - National Exporting Country Registers and Maintenance of Current Production Records, Additions to Such Premises, and Ceiling Limitations	80	0.75	60.00	9	27.21	\$1,632.60		
Request for Hearing for Withdrawal of an Import Permit for Ratites or Ratite Hatching Eggs	1	6	6.00	14	55.45	\$332.70		
Daily Record of Horse's Activities	0							
Recordkeeping - Horses for Association and Trainer (certified on health certificate)	0					\$0.00		
Written Request to Change Horse's Itinerary or Method of Transport	6	0.333	2.00	13	46.93	\$93.77		
Appeal or Hearing of Import Permit Withdrawal	1	6	6.00	13	46.93	\$281.58		

APHIS-79: APHIS, VS 0579-0040								
	TOTAL ANNUAL RESPONSES	AVERAGE TIME PER RESPONSE	TOTAL HOURS PER YEAR	PERSON	AVG RATE DGRAM NEL (Avg rly Wage)		OVERHEAD COSTS (.139)	TOTAL COSTS
FORM NO./RESPONDENTS								
Random Inspections of Ratite Farms per Breeding Season of Premises for Required Identification and Recording on Quarterly Report of Registers	80	1.5	120.00	12	39.46	\$4,735.20		
Application for Import or In-Transit Permit (for Live Animals, Animal Semen, Animal Embryos, Birds, Poultry, or Hatching Eggs, VS Form 17-129	3,570	0.18	642.60	12	39.46	\$25,357.00		
Request Space at USDA Operated Quarantine Facilities and Includes Mailing Copies	1,360	0.033	44.88	12	39.46	\$1,770.96		
Foreign Health Certificates	75,000	0.19	14,250.00	12	39.46	\$562,305.00		
Letter of Credit, Cashier's Check, Certified Check, or Money Order	7,780	0.1	778.00	11	29.36	\$22,842.08		
Written Notice of Cancellation from Importer	100	0.25	25.00	11	29.36	\$734.00		
Written Agreement with State for CEM (Monitoring by State)	220	10	2,200.00	14	55.45	\$121,990.00		
Opportunity to Present View on Suspension	1	6	6.00	12	39.46	\$236.76		
Zoological Park Inspection Report, VS 17- 65A	6	5	30.00	12	39.46	\$1,183.80		
Agreement for the Importation, Quarantine, and Exhibition of Certain Wild Ruminants and Wild Swine, VS 17-65B	2	0.5	1.00	12	39.46	\$39.46		
Report of Zoo Animals with Suspected Cases of Contagious or Communicable Diseases, VS 17-65C								
	2	0.19	0.38	12	39.46	\$14.99		
Agreement forTransfer of Certain Wild Animals, VS 17-65D	1	0.25	0.25	12	39.46	\$9.87		
Application for Approval of Quarantine or Holding Facility (Letter)			0.00			\$0.00		
Horses	22	0.25	5.50	12	39.46	\$217.03		
Sheep/goats	1	0.25	0.25	12	39.46	\$9.87		
Ruminants	1	0.15	0.15	12	39.46	\$5.92		
Swine	1	0.25	0.25	12	39.46	\$9.87		

APHIS-79: APHIS, VS 0579-0040								
	TOTAL ANNUAL RESPONSES	AVERAGE TIME PER RESPONSE	TOTAL HOURS PER YEAR	PERSON	AVG RATE DGRAM NEL (Avg rly Wage)		OVERHEAD COSTS (.139)	TOTAL COSTS
FORM NO./RESPONDENTS								
Opportunity for Hearing to Present Views on Facility Withdrawal and Written Withdrawal by Facility Operator	1	6	6.00	12	39.46	\$236.76		
Cooperative Agreement and Trust Fund for Birds (includes providing a list of current employees to port veterinarian, signed statement from each designated employee, written instructions to monitoring agency, telephone numbers of cooperators, written request for accounting of funds, and written termination)	20	2	40.00	14	55.45	\$2,218.00		
Trust Fund or Compliance Agreement for Horses	35	1	35.00	14	55.45	\$1,940.75		
Application/Permit to Import Birds (request space for commercial lots of birds at USDA operated or approved quarantine facilities), VS 17-20	150	1	150.00	13	46.93	\$7,039.50		
Daily Log of Privately Operated Quarantine Facility for Ruminants, Swine, and Equine	100	5	500.00	14	55.45	\$27,725.00		
Recordkeeping – Daily Log of Privately Operated Quarantine Facility for Ruminants, Swine, and Equine								
Daily Log and Identification Record for Birds, VS 17-12	0							
Recordkeeping – Daily Log and Identification Record for Birds, VS 17-12								
Additional Requirements for the Quarantine of Birds	1	2	2.00	12	39.46	\$78.92		
Application for Approval of Quarantine Facilities and Request for Transfer of Operations to Another Facility for Birds, VS 17-11	20	0.5	10.00	12	39.46	\$394.60		
Written Request for Inspection, Other Services, and Dipping, VS 17-32 (Application for Inspection and Dipping)	21,175	0.25	5,293.75	12	39.46	\$208,891.38		
Importer or Agent Certification Free of Fever Tick (Letter)	9,275	0.19	1,762.25	12	39.46	\$69,538.39		

APHIS-79: APHIS, VS 0579-0040								
	TOTAL ANNUAL RESPONSES	AVERAGE TIME PER RESPONSE	TOTAL HOURS PER YEAR	OF PRO PERSON	AVG RATE OGRAM NEL (Avg urly Wage)		OVERHEAD COSTS (.139)	TOTAL COSTS
FORM NO./RESPONDENTS								
72-Hour Prior Arrival Notice (Hedgehogs, and Tenrecs, Elephants, Hippos, Rhinos, and Tapirs)	330	0.5	165.00	9	27.21	\$4,489.65		
Owner Affidavit for Sheep and Goats from Scrapie Regions	1	0.033	0.03	12	39.46	\$1.30		
Request for Recognition of the Animal Health Status of a Region	12	2	24.00	14	55.45	\$1,330.80		
Application for Recognition of the Animal Health Status of a Region	8	80	640.00	14	55.45	\$35,488.00		
Request for Additional Information about a Region	11	80	880.00	14	55.45	\$48,796.00		
Appeal Classification of Animal Health Status	2	10	20.00	14	55.45	\$1,109.00		
Written Recommendations Have Been Implemented by the Region	3	20	60.00	14	55.45	\$3,327.00		
Notification that a Restricted Agent Has Been Discovered in the Region	2	1	2.00	14	55.45	\$110.90		
Certification for Horses that Spend Less than 60 Days in a Region	50	0.1	5.00	12	39.46	\$197.30		
February 1, 2021					TOTAL	1,338,098	\$185,995.63	\$1,524,093.60

APHIS-79: APHIS, VS 0579-0040								
	TOTAL ANNUAL RESPONSES	AVERAGE TIME PER RESPONSE	TOTAL HOURS PER YEAR	OF PRO	AVG RATE OGRAM NEL (Avg urly Wage)	PROGRAM COSTS	OVERHEAD COSTS (.139)	TOTAL COSTS
FORM NO./RESPONDENTS								
				·				

APHIS-79: APHIS, VS 0579-0040								
	TOTAL ANNUAL RESPONSES	AVERAGE TIME PER RESPONSE	TOTAL HOURS PER YEAR	OF PRO	AVG RATE OGRAM NEL (Avg urly Wage)	PROGRAM COSTS	OVERHEAD COSTS (.139)	TOTAL COSTS
FORM NO./RESPONDENTS								
				·				

APHIS-79: APHIS, VS 0579-0040							
FORM NO./RESPONDENTS	TOTAL ANNUAL RESPONSES	AVERAGE TIME PER RESPONSE	TOTAL HOURS PER YEAR	OF PRO PERSON	AVG RATE OGRAM NEL (Avg Irly Wage)	 OVERHEAD COSTS (.139)	TOTAL COSTS